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389) 2 +n<— 390) ——(-2+71)>-——
6 21 5 100
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391) —p+1—zﬁ 392) gL 3,5 29
2 4 52 8 3 16
3 4 3 ¢ 5 8§ 5 10
9 1 1 1 2
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397) 8b+6>-14-2b+5b
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409) -1+ 6X<7X-5
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411) -5x—-8<2x+6

R S S

398) m+8<16+6m—2—4m
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A S R
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464) 2v+v—2<3v-2
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468) m+1>-8m—8
VI
470) k—6+ 4k <9 + 6k
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DI S M
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493) -2a+a<4+3a 494) 8a+12< 6+ 8a
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5 S0 1 23 45 6
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‘é ; 5:4 ; 1:0 1:1 1:2 1:3 1:4 1:5 1:6
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5 5 45 %o 123
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I P
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533) 26 - 3a>-8(a—2) +3a 534) 25+ 5x < 5(-7x+ 5)

% 5 4 5 5 1o 123 S 5 4 5 2 0 12 3 4
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553) —6(-7 — 8a) > -38 + 8a 554) —6(5—b) <10 —4b
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557) —17 — 6v<—4(v+4) -7
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565) 4k + 5(-8k +2) > 10 + 3k

<
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567) —8n—3(n—7) >8n+ 21
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569) —8(1 — 3X) — 2x < 8x + 34

571) —40 - 7n<-8(n+6) + 2

<l

-10 -3 -6 -4 -2

558) 4(7—3n)>-3n-17

34 5 6 7 8 9 10 11 12

560) —37 —3n<2(-5n+6)
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-1 0 1 2 3 4 5 6 7 8

562) —7 +4(3 + 5m) > 8m— 31

<

8 -7 6 -5 -4 -3 =2 -1 0 1

564) —3(n—1)-1>-6—4n

-10 -3 -6 -4 -2

566) 3(1+a)+3a<-12+a

9 8 -7 -6 -5 -4 -3 2 -1 0
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568) —8n+39 < -3 —6(7 + 6n)

-10 -3 -6 -4 -2

570) 24 — 4r > —6(-4 + 7r)
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573) —30-6p<-3(2+3p) 574) —30 - p>5(8p-6)

3 4 5 67 55 00 S a5 o 1 s
575) 2(1 + 5x) < —34 + x 576) —3m+ 13 <2(-2m+ 4)
R R S S R S A R A S S
577) 4(2n+8) > 24 + 8n 578) —33 + 6x < —5(1 — 4x)
e 5 45 50 1234 L R S
579) —4v+4(7 —v) <4 - 4v 580) —4(-4n—-7) <-12 + 6n

3:) ;l 5: é ; 2:3 ; 1:0 l:l 1:2 ll3 —:9 —:8 —:7 —:6 —:5 —:4 —:3 —:2 —:1 I
581) 7x+21<-7(7 - 3x) 582) —34 + 6a>4(a—6)
S 4 5 6 7 5 5 1010 o 1 2 3 4 5 6 7
583) —3(x+2)>2 +x 584) 4 —4v > —4(6v—6)
S 4 5 2 0 12 5 4 s o 1 2 3 45 s 7
585) —9 — 5x > —2(5x + 2) 586) 5(1+r1)>5+6r
0 1 2345 67 DI S
587) —21 +7m< 6(5m+7) - 2m 588) k— 15> 4k + 6(1 — 4K)
. 5 455612 4 R/ S R S
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589) 7a+1>2—(1 —4a) 590) 32 +4r > 4(r + 6)

-3 -2 -1 0 1 2 3 4 5 6 7 -7 -6 -5 -4 -3 -2 -1 0 1 2 3

591) —-4(2p-7)>-22 +2p 592) —7 + 7v> 6(4 — 4v)

>
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593) m+35<2(6m+1) 594) 1+6x<5-8(1-x)
L/ S S R S 6123 45 67 8
595) —(4 — 7m) > -m-2(2 + 8m) 596) —(3n+8) > —(-5n+8)

S 0 1 2 5 45 6 7 s 0 1 2 3 4 5 6 7
597) —2(x—6) —7<3x+5(1 - 8x) 598) 7a+ 3(-6 - 6a) < —a— 5(2a-4)
‘—:3 —:2 —:1 (:) ; é é 4:1 ; (:) ;’ 1:0 1:1 1:2 ]:3 1:4 1:5 1:6 1:7 1:8 1:9 2:0’
599) —7b - 2b>-3(7b - 2) + 2(1 + 8b) 600) —2(2n+7)>1-(n+6)

D PR A S T 5 5 4 2
601) 5(4n+8)<20n+ 14 602) —8(2n+5)>-4(3n-4)

L 2 3 4 5 6 7 8 o 10 P P Vg
603) n—7(1 —n) <2(1 + 7n) - 7n 604) —11 — 6x> —2(x - 8) — 4x
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<l L

5 6 7 8 9 10 11 12 13 14 15 2 3 4 5 6 7 8 9 10 11 12
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605) 6(8 +2x) — 5(3 + 8x) < —3x + 8x

’
L

:
<

-4 -3 -2 -1 0 1 2 3 4 5 6

607) 5+5(x—3)>-8(8 +7x) -7

-4 -3 2 -1 0 1 2 3 4 5 6

609) —2 + 4(x - 6) < 4(x+7)

<}

3 4 5 6 7 8 9 10 11 12 13

—

611) 6(v—2)+2(v—1) <5v+4v

613) —3(x+ 6) > —7(x+ 1) +5

<<

-1 0 1 2 3 4 5 6 7 8 9

615) 8(7x 5) 8(—6x—3)

34567891011 1213

617) 8 —8m—7m-28>-7(m+8) + 8(m-5)

L
>

i
<

2 3 4 5 6 7 8 9 10 11 12

619) —6(n—2) + 8> -2(5—4n) - 8n

<l

o 1 2 3 4 5 6 7 8 9 10

606) 6(~2 +n)>6n+6(-n—1)

N
<

-2 -1 0 1 2 3 4 5 6 7 8

1
>

608) 4(x —2) - 5(2 + 3%) < ~7x - 6x

N
>

L
<

6 7 8 9 10 11 12 13 14 15 16

610) —3(1 +2p)+5p=>3(6p+4) —4p

—

-5 4 3 -2 -1 0 1 2 3 4 5

612) 6X — 6X < 4(1+x) 4(x +3)

—6 —5 —4 —3 —2 -1 0 1 2 3 4

614) 2(b 2)+4(b 4)>2b 7

>

<t

5 678 910 11 12 13 1415

616) —(m— 7) + 4(m— 7) >-3m+3m

<

-1 0 1 2 3 4 5 6 7 8 9

618) k+2(k+7)>-2(k-7)
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—

620) 6(x —7) — 6x> 7(x - 2)

-9 8 -7 -6 -5 -4 -3 -2 -1 0 1
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621)

~7(1-4p)>4p+6(-4+4p)
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